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U.G. DEGREE EXAMINATION, APRIL 2019 

Mathematics 

Allied : STATISTICS – I 

(CBCS – 2011 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all the questions. 

1. Define Kurtosis. 

 umøh AÍøÁ Áøµ¯Ö. 

2. Write the formula for Pearson’s coefficient of Skewness. 

 L¤¯º\ß öPÊøÁ Põs£uØPõÚ Áõ´£õmiøÚ GÊx. 

3. Define positive correlation. 

 Áøµ¯Ö ÷|º© JmkÓÄ. 

4. Write the regression equation of X  on Y  and Y  on X . 

 Y  «x X  ©ØÖ® X «x Y ØPõÚ öuõhº÷£õUS ÷PõkPøÍ 
GÊxP.  

5. Define association of data. 

 Áøµ¯Ö uµÄPÎß öuõhº¦. 

6. Define consistency of data. 

 Áøµ¯Ö J¸[Pø©Ä ©v¨¦PÒ. 
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7. Write the formula for Paasche’s index. 

 £õìáÀì SÔ±mkUPõÚ Áõ´¨£õmøh GÊx. 

8. Define Time Series. 

 Áøµ¯Ö ÷|µ Á›ø\. 

9. State the addition Theory of probability. 

 TmhÀ {PÌuPÂØPõÚ ÷uØÓzøu Áøµ¯Ö. 

10. State Boole’s inequality. 

 §¼ß \©Ûßø©ø¯ GÊxP. 

 Part B  (5  5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) The first four moments from the value 10 are  

1,4 10 and 46 respectively. Compute the first four 

central moments. 

  J¸ £µÁ¼ß •uÀ |õßS Â»UP¨ ö£¸USz 
öuõøP°ß ©õÔ°ß 10&I¨ ö£õÖzx 1,4,10 ©ØÖ® 46 
GÛÀ AuÝøh¯ •uÀ |õßS ø©¯ Â»UPÍÄPøÍU 
PõsP. 

Or 

 (b) Describe the method of fitting of the curve b
aXY  . 

  b
aXY   GßÓ ÁøÍÁøµø¯ ö£õ¸zx® •øÓø¯ 

ÂÁ›UP. 

12. (a) From the following data, find the rank correlation 

coefficient. 

X : 1 2 3 4 5 6 7 8 9 10

Y : 1 4 2 5 3 9 7 10 6 8 

  ÷©÷» EÒÍ ÂÁµ[PÐUS uµ JmkÓÄU öPÊ PõsP. 

Or 
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 (b) 054  XY  ; 0635  XY  are two regression 

lines then find the : 

  (i) Mean values of X  and Y 

  (ii) Value of correlation coefficient. 

  054  XY  ; 0635  XY  Gß£Ú C¸ 
öuõhº÷£õUSU ÷PõkPÒ GÛÀ, 

  (i) X  , Y &ß \µõ\› ©ØÖ® 

  (ii) JmkÓÄU öPÊÂß ©v¨¦U PõsP. 

13. (a) Find the missing frequencies from the following 
data : 

  (i) A = 400 ; (AB) = 250 ; (B) = 500 ; N = 1200 

  (ii)   500B  ; (B) = 600 ;   800  ;    = 1000. 

  RÌUPsh ÂÁµ[PÐUS Âk£mh Aø»öÁsPøÍ 
Psk¤i. 

  (i) A = 400 ;  (AB) = 250 ; (B) = 500 ; N = 1200 

  (ii)   500B  ; (B) = 600 ;   800  ;    = 1000. 

Or 

 (b) Given             NCBA 2/1   and also 

(ABC)   . P.T. 2(ABC) = (AB)+(AC)+ 

(BC) - 1/2 N. 

              NCBA 2/1   ÷©¾®  

(ABC)   . GÛÀ  2(ABC) = (AB)+(AC)+  

(BC) - 1/2 N GÚ {ÖÄP. 

14. (a) Explain the uses of Index Number. 

  SÔ±mk Gsoß £¯ßPøÍ £ØÔ ÂÁ›. 

Or 

 (b) Write the importance of Time series. 

  ÷|µ Á›ø\°ß •UQ¯zxÁ[PøÍ £ØÔ GÊxP. 
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15. (a) A problem in statistics is given to three students  

A, B and C whose chanees of solving it are 
4

1
,

4

3
,

2

1
 

respectively. What is the probability that the 

problem will be solved if all of them try 

independently? 

  ¦ÒÎ°¯¼À EÒÍ PnUS ‰ßÖ ©õnÁºPÐUS 

öPõkUP¨£kQßÓx. AÁºPÒ wºÄ Põs£uØPõÚ 

Áõ´¨¦PÒ 
4

1
,

4

3
,

2

1
 GÛÀ AUPnUøPz wº¨£uØPõÚ 

{PÌuPÄ ¯õx? 

Or 

 (b) A bag contains 6 white, 4 red and 10 black balls. 

Two balls are drawn at random. Find the 

probability that they will both the black. 

  J¸ ø£°À 6 öÁÒøÍ £¢xPÐ®, 4 ]P¨¦ £¢xPÐ® 

©ØÖ® 10 PÖ¨¦¨ £¢xPÐ® EÒÍÚ. CvÀ Cµsk 

£¢xPÒ µõsh©õP GkUP¨£kQÓx. AøÁ Cµsk® 

PÖ¨¦¨ £¢xPÍõP C¸¨£uØS›¯ {PÌuPÄ PõsP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Calculate Karl Pearson’s coefficient of Skewness for the 

following data : 

X : 0-6 6-12 12-18

Y : 5 12 18 

X : 18-24 24-30 30-36

Y : 38 20 7 

 ÷©÷» EÒÍ ©v¨¦PÐUS PõºÀ ¤¯ºéÛß umøh AÍÄ 

öPÊÂøÚ PnUQkP. 
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17. Obtain the regression equation of Y  on X  and X  on Y  

from the following data and estimate Y  when 45X  

and also estimate X  when 48Y . 

X : 10 10 18 25 28

Y : 11 22 22 19 35

X : 33 34 39 42 43

Y : 27 33 40 42 47

 ¤ßÁ¸® ÂÁµ[PÐUS JmkÓÄU (öuõhº¦U) ÷PõkPÒ 
Cµsøh²® Psk¤i. ÷©¾® 45X  GÛÀ Y °ß ©v¨¦ 
GßÚ? ©ØÖ® 48Y  GÛÀ X &°ß ©v¨¦  GßÚ? 

18. Given 23713N , 1618)( A , (B) = 2015, (C) = 770  

(AB) = 587, (BC) = 428, (AC) = 335 and (ABC) =156. Find 

the remaining ultimate class frequencies. 

 23713N , 1618)( A , (B) = 2015, (C) = 770 (AB) = 587, 

 (BC) = 428, (AC) = 335 ©ØÖ® (ABC) =156 GÛÀ «u•ÒÍ 
•iÂÀ»õu Aø»Á›ø\ø¯ Psk¤i. 

19. Calculate Laspeyre’s index number, Paasche’s price index 

number and Marshall-Edgeworth index for the following 

data : 

Commodity 1980 1981 

 Price Quantity Price Quantity

 in Rs. (in Kg’s) in Rs. (in Kg’s) 

A 20 15 30 10 

B 30 18 40 15 

C 10 20 45 10 

D 15 25 25 5 
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 RÌUPsh Â£µ[PÐUS »õì¤¯º SÔ±mk Gs, £õìáÀì 
Âø» SÔ±mk Gs ©ØÖ® ©õºåÀ & GmäöÁºz 
SÔ±kPøÍ PnUQkP. 

ö£õ¸mPÒ 1980 1981 

 Âø» AÍÄ Âø» AÍÄ

A 20 15 30 10 

B 30 18 40 15 

C 10 20 45 10 

D 15 25 25 5 

20. State and prove Baye’s theorem. 

 ÷£°ß ÷uØÓzøu GÊv ÂÍUSP. 

——————— 


